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���� �8
@�1�  �
� 0().  

   

A�:  ��"�
$
�  -BC� )0��0�
��� 8(�% D:
E )0  &
�5  )0 8�F5 !�1)���� �� )�G%�� 00�%.  

+$� !"H�� �� 
$
� ��"� A�: I�
1 ��� ��� �
��� ( ����� �
��� �����	 '�� ����	.  
  

1( �� ����	 K(� '�7E )0 L�6# �� &
2�� 8(�% 6$
� ��� ;�� !� ( 80��5 �6. !M��N0 �� �) 0�� !� O���� ����	 �)�� &0��F5� 

"B�D �1���	 )��� ����	 (0�� �)  �
�� �6� )015 !Q:
B� !C�E0 6,$
�5 ( !� �R
� 65)
S7�. 

2(  �
� I�
1 ����	 L(0 '�7E  !� �$�%15 K��� ��7� 5 !,$G% T
�# D:
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,� ( ��)0 &
�

�5�0 �� ��(�% �)�� !� �����	 61
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3( �V�  �
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,M  ��(�% !M4 ��� !Q:
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 ����� 	�
1  

� /� � 01�� 2�  

  

��� ���� ��� ����� ������ ����� ���� ����� ���  � �!  "��.  

3��, ��� 4:  

$�%& '�(N! �)� �& �*+,*�-  .�/ ����
 ��-�0+�m�1�*2�� �(�3 �
 �%20� 4+5 ��  ���$6V�1��
 ���	 7�� 8

�9 �� �
��9 �9��1 �� ��:( �;��<� �& "�� =>� �� �
�6�21 � ,*� 
�*?���*+ �� 
*/9 �� ���*�
 =>� �� �� ��! . �� '�(

$���
 �@A�:  

1 ( .�)D�*�*+,  7�3 ���E�(  �
3 �� "&�� F�G2H� �@A� "I/ �%%&.  

2( -! �)�  "J�� ����
 ��-�0+�c�%20�.  

3( =>�K>�� �1�*2��A -! L�MD�� 9ct�& "��c,*� "J���*+ 9 ��t,*� �& "�� ���D*& -����*+  �� 7�N  � �� ��

�� �O�
 7�N �%��.  

 ��@& 4��5 �1�*2�� P���*�*+, ��� �-��� �
 �& "��t�� 
�*?�� -! ���*�
 �� �%%&.  

  
,*�  � 
�*?�� .�O%� �& ��9��1�� 
��9 ���*�
 �� �*+ 
*5:  

F m.a=  
�&a � Q�25*�*+, 8��m -! .�/ 9 ��F ���*�
 �� �
��9 �9��1 "�� ��.  

(mc)c
F ma F m.

t t

∆∆= ⇒ = =
∆ ∆

  

"&�� ����1� ���RD -�)� 9��1 �6�21 �
 ,*�  � �2	9 ��� "�� -��� ���9 �
*+ 7�3 ���*�
 �� ��� 
�*? �� �%&  9  

�� �� �>��� �� -! "&�� ����1� ���RD 

�� �� �;��<� ��� � 
*5.  

(mc) mc mc mc2∆ = − − = −  

� "&�� ����1� ���RD �� S*��� ����� P��* "&�� ����1� ���RD ��� "�� �*+,���*�
 ( mc) mc2 2− − ="��.  

��
�*?�� 
��TD ���� ���=>� �� 
��9 �A -��� ���9 �
(t)
�& UH:� ��. � 
��TD*�*+, $6� ���9 �
 ��N

V
  9 "��

7�3 $6� -*VAct"��8 � 
��TD*�*+, �1�*2�� �
 $6� ���9 �
 ��N Act

V
"�� . �� �& �61! ��3 "I/z, y, x 8  

E�(1
3

 �*�*+, "I/ �
 ��x�� "&�� E�( 9 �%&1
2

 -! �� "��
 "I/ �
 ��8 �I%D WX1
6

 -! ��*H,
 ��0� �
 �� �1�.  

,*� 
��TD WX�*+ �� 
�*?�� ���*�
 �� �& ���� �� "�� ����� �%%&:  

N
Act

V

1
6
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�6�21�
:  

mc NAct
F mc

t Vt

12
6

∆= = ×  

mc NA

V

21
3

=  

mc NF
P P

A V

21
3

= ⇒ =  

V mc
PV mc N PV N( )

2�9�YY0D 7�YYN9
 21 2
3 3 2

×→ = ⇒ =  

PV Nk
2
3

⇒ =  

-�)�  �*N�� �& "��Z 
�J  � ��� $6� �
 ��:( 4A�� $�%��k
2
3

"��8 "�� 4�*� -*1�	 -�)� P��.  

N��  ����� F��[ 
��TD ���
��99! 
�J ����� F��[ �*� 
��TD9 "��:  

N nN0=  

�>��� �
 \*( �>��� ���]O��/ ��  �mc
PV N( )

22
3 2

= �� �6�21 �& 
*5:  

mc
PV nN ( )

2

0
2
3 2

=  

 ��/ �� ��� ���PV���� ��� ",�� �,
�T� ^;N �>��� 8�!nRT�� �6�21 $���]O� �� 
*5:  

mc
nRT nN ( )

2

0
2
3 2

=  

mc
RT N ( )

2

0
2
3 2

⇒ =  

! ��61�& ���R

N0
�  � ���� ����� "��Z �����*"�� ��� �*+,8 -�)02,*� "��Z �� -!(K)�� $���1:  

mc
KT ( )

22
3 2

=  

01�� � �� / #� � ��� �� 2�:  

PV nRT=  
�&n -�)� ";01/"�� -! �)D� .�/ �� ��� .�:  

m
PV RT

M
=  

 �&�����:  

& $� &�����- �7�:  

  
�� �& �*>1�)� ��
*)1 �
 $�%��PV���� ���  � ���� Q�� 4A�� �!P V× "�� "��Z 
�J  �.  
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�7� &�����-  ��:  

  

P
V

V V ( ) t
t

0
∂= +
∂

  

�& 
*5 �/*DP
V

( )
t

∂
∂

"�� "��Z ��:( �
 ��
 �� ";01 $6� ^2:� -�)� . ������%� `��TD80α  S�0;1� a��� -�)� ��

F�*A �� ����� ���� �D����P
V

( )
V t0

1 ∂
∂

�� `��TD 
*5 .WX:  

V V V t0 0= + α  

V V ( t)0 1⇒ = +α  

& $� &�����-  ��:  

  

V
P

P P ( ) t
t

0
∂= +
∂

  

8���9:  

V
P

( )
P t0

1 ∂β =
∂

  

�&β "�� "��Z $6� �
 ��� ��:( b��c(� a��� -�)�.  

P P P t0 0⇒ = +β  

P P ( t)0 1⇒ = +β  

a�D�D P�)� �� 9K �� ����� �D���� $&��D a��� �� F�*AT
v

( )
v P

1 ∂−
∂

 �� `��TD ��� 
*5, ,Kα β  ������ ���� E�(

���� �� `��TD ����� �)� ���� "0�1 �! 
*5.  
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	�
 �����2  

�;�;� � �� /   

� ��� �� "T�;N �
 
*/*� ������ F�(��<1� �������� �!8 "��  �c�( �)�5 �
 �)I� d<;�.  

��� �
 F�(��<1� ��� �����
*)1 �
N2 9H2���� ",�� �� �� �� �! $�%��:  

                      
  

�� �& �*>1�)� $6� 9 e�� �����:( �
 $�%�� $& ���8 ���� �� 7��<1� �!8 �� �2:�� 
*5.  

���� ",�� �� 7��<1� ����� ����� ���� ��2����X �� ���� �! �� `��TD ��� 
*5:  

)1 (  
ideal

V PV
Z

V RT
= =  

���� ��� ���� �!Z 1= ���� ��� "�� ����� ������Z �� �� �2:�� �� �2)& �1�*D 1 �5��.  

����� 7��<1� ���� ",�� �� 
��
 4�,
 9
 �!:  

1( ���� ��� �
 F��[ $6� �! �MA �1��
 $6� ����� ������ ��� "��.  

2 (���� ������ �
 �,�� �
 
���1 
*/9 F��[ -��� ��[�/ �! "�� ��[�/ F��[ P�� ����� ������ �
 �&.  

 �5�� 
��� ���  � F��[ -��� ��[�/ �9��1 ��� )��� ���� -! 4��)D �%T�-�5 K (-! �� ��)J� ��:( �2	9 ���  ^;N $�%&

 �>���PV
Z

RT
= �&Z ���� ��� ����  �!1 "��.  -
*� "��Z ���� ����Z-�5 
��� �� ��� 
*5 $& $6�P 8 -�5 $& 4�,
 ��

��� �@A�(F��[ ��[�/ -
*� e�� 9 F��[ -8 -! -! $6� 9 �
�& Q]/ $� �*� �� �� �� ���� ",�� �� �2:�� �� �� $& �!  9 
*5

�5�� 
��� ��[�/ �2	9 �6�21 �
Z  �� �2)&1 "��. � $6� �& �2,�� �
 ���*�*+, �� $& �� $6� �2	9 �5�� 
��� ��  8$�%&

� $6�*�*+, �� 
� ��� 4�+:D �� ��� �@& $6� �� �
��� � ���� �� ";01 9 �%�
 �*+,*� -��� $6� �! )& �� �� 9 "�� �2

�
 �%T� �2:�� ��:( 9 
���1�2�� ",�� �� ";01 �2:�� ��[�/ K;NPV

RT
  .��� �2:�� ���9 ",�� �� �0& 
*5.  

P�� ���� ��� � ",�� �� ";01 ��� $�%�;� �&��� 7��<1� �!+ �� 
��
−  4��J .��& �Z� $�%�;� ����)�9��1 �� $6�  P��

��[ �� ("�� �2:��.  

  

�6�21:  7��<1�+  :�6�21 � ����1� �Z�  

    7��<1�−  :�6�21 � ��1 �Z���[ P�� �9 ��  

  

01�� � / #� � ��� �� <=>� 2�- �?���&1��� �@,�&  

-�)� �� �& �*N ���� ��� �*�  � ���� $�1�
 �!RT
V

P
= "�� .�� ��:( �2	9 �%T�∞ �� 4�� $6� �%&  �MA��  8
*5

�� ��:( �2	9 ����� ������ �
 ���∞ �� 4�� $6� �%&  �MA�)1 ��� ����� �� �+@� 
*5b  F��[ U,�? $6� -�)� �&

�� 4�� "�� ��� �%&. ����� ���  � ���� WX  

)2 (  RT
V b

P
= +  



 

 

�
��

��
 

�
�� 

�
�	


 
�

�� 

�

��
 �

��
��

 �
		

��
  

 

6 
6 

  V*& $6� -�),� 9
 ���V19V2 ����O� �g1 �
 ��� ��� 7�3 �
.  

  
�� �  � ����
 -�),�*-! P�� �9��1 9 �*+, ��f "��.  �� ���V2�  �*�,9 
*5 �(��� �O�
 �*+,V1  � -�%h)�

�*9��1 -*D*�1 .*� 4A� ^;N �5�� �25�
 �*+,f2�� P�)� 9 
*5 �  � -
�& �(��� �� �*N* -�),� �� �� �*+,

��9��1f39f49f5 ��  P�� ��[�/ �9��1 4A� �
 8
��
 �>��� -�),� �� "g@i �� -�),� 9
 P�� ��[�/ �9��1 WX 8
*5 9


�%T� -�),� 9
 "g@i Q�� �� -�),�C C1 2×
��
 �>���.  WXf C C1 2∝  ����� "g@i �/ �)� ��� 7�3  � �
 -*V ���

WX "��C C1 2=9 "��f C2∝  ���n
C

v V

1= = WXf
V

2
1∝ .  

��  � ������ �g1 �
 -! ���� a��%D a �& $���� �%& 4��;D ��:( �� �� 9��1 $� 9 �%& 4��;D �9�0D �� �� e�� a��%D $�:  

)3 (  a
P

V
2

=  

e�� ��:(8 � P�� ���9��1 �� �5�1 �(��� ��:(*"�� �,*+,.  

 �� �/*D���>���RT
V b

P
= +8P� ��� �� "�
 $��9!:  

)4 (  RT
P

(V b)
=

−
  

�� �(��� ��:( ��� �� $& e�� �,
�T� �� �� ���! "�
 $�%&:  

)5 (  RT a
P

(V b) V
2

= −
−

  

�� aD�� �� e�� �>��� $�%&:  

)6 (  a
(P )(V b) RT

V
2

+ − =  

 P���,
�T� �� �>��� �� W,�9��1�9 ",�� $��*�.  

�2+1 :� ����� -
�9! "�
Z �>��� 7�N 9
 W,�9��1�9 ������ )5 (�
 ��V

RT
 Q�� �� $�%&. �a���D �� Wjx x

...
x y y
y

2
1 1

1
= + + +

−
 

 �
�M2���� $�%&.  

�2+1 :Z  �� ������ ���RD ��
 ���RD �� ���� �%&.  7��<1� ���  � "�� P+)� ��
  � �
 klm�";m�  �O�
 ����
 �
 9

 7��<1� �M%��5�� �25�
 .�GH:� ���
 �
 ����� �)� ���8Z �1��
 �MA �����. � �D��;J ��(���� ��2 �1��
 �!. ��
 P�� ��8 

 4�*� ���
B(T )�%�*�.  

�2+1 :�� �� W,�9��1�9 �>���  .*� �/�
 K��D  � F�*A��  -�*D"5*1 .�( K��D P�� ��� ���E  �
 ��� �5�� �25�
 �:��  �

�� �� �� �1��<� E���5 
��(Critical state).  

��
8 �� W,�9��1�9 ���  � ���� �1��<� $6� 9 ��:( "�� ��� F�*A:  

CV b3=  

C C
a a

P T
bRb2

8
2727

= =  
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	�
 �����3  

2�� ��� 4  

  

$6� 9 ��:( ��& :�X*+�9�&�� E�<� ���8 �9��1F�
�� �9� �� -! 9 �%& ��)J� ��  ����1� �� ��xδ ���/ �%& �/8  ��O1!

&��wδ 4+5 ��:  

)1(  w F xδ = δ  

���F9xδ �
  � �%5�� �2���8 "�� �M%� ��& �%5�� $� "I/ 7l? �
 ��� 9 ";m� ��&.  

#$/�, & A #$/�,��B � ��C
 ��C
:  

 -*20�X  ��& ��:(P  -! �9���5 ��)J� �����O� �g1�
 �. 8  � ����1� �� ���pδ�)J� ��:( -! �9�  V*& �@�?� 

$�%&8 ����1� �� -*20�X  �xδ �� "&��  V*& P�� ����� ��� 8�%&δ�%& 4�� �MA �� 9 �5�� �@�01��M�
 ��8  7lD� p��

�q�1�  ���� �g<, �� �
 �� �%���( 9 $����1 ",�� �� �1�*D �@;	 ":��� �%���( -! �� �& 

���� �%�*� ��]X . '�( ��� ���

 � ��%& ��:( ����P �� -*20�X �� 
��9 $���
��. �6�218 ��N �� �q�1� 7lD� �� �%���( P�� 9 "�� -! $6� �1�I��1 ���RD^ 

 9 ���� ...�%�*� ��]X�1 ":��� -! �� �& "�� ���)�.  

 ��/: ��� ��
*)1 ���  8��$0/ ������ "�(�3 F����RD ��
*)1 $���O� �g1 �
 ��
 a0� �� "��Z ��:( �
8  -! ��� "��0�

 �� �q�1� �� ���� F����RD���
T T2 1< "��.  K��D ��� ���PC�� �>?�>��� �� �5q mc t= ∆ �� �
�M2��  ��� 9 
*5

���O21� �� �5�;1.  

  

�9� -*1�	 :      -! ��Y;/ KY)/ ^Y��N �� �X*+Y�9�+�� �YV 9 �X*+Y�9�&�� �V �
�� �� $20��  � �q�1� �@& F����RD   �Y�

�� �� "�
   "�� �g1 
�*� $6� Y ��:( ��& 9 ���� �����  ���%�
*��D �
 ��� 8��!. X ��� W ��$���� ���� $0/  �  -! �� ��

���� ��O�8$� -! �9� �� ��
 .�61� ��& ��& 
*5 .�61�8 -! ��;/ K)/ ^��N �� $20�� �q�1� F����RD �� �;��<� �� 
*5.  

)2(  E q w∆ = +  
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��O� ���� $20�� ���q ��� 9 ";m� �����M%� ���� "��.  ����9� 
*5 .�61� ��& $20��w    ��Y& $2Y0�� �Y�� 9 ";m�

��
 .�61�w"�� �M%�.  

�2+1 :�� ���%�!�( *5 .�61� "��Z ��:( 9  "��Z $6� 8"��Z ���
 �
 �%1�*D1�.  

�2+1 : �q�1� ���RD $20��  � �19�
E�( 9 E�(  ���
 F����RD K��D"�� -!.  
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	�
 ����� 4  

�E�� F�����9 G,��9  

  

��?� G, 9 � #� � G, 9:  

�T��*D ",�� K��*D  �%20�  �I21� �>�1 9 ��2�� �>�1 �� �20��9 E�( �&�� �%5��  -���X �� L9�5 �>�1 �� "&�� ��0� �� 9

�� "&�� ��0� �� �20��9 kl��& ��0� K��*D ��� �1���1 ���&A ��B �%20�.  

K��*DP Vt , w,C ,C , H, U:  

q: ����� � "J�� E�*2�*��0� K��D 9 "�� �q�1� �� �J*1 �& "�� ��� �,*+, �� �5��.  $0/ �& ������ ����� ����

�� "(���
 � �� 9 "�� 4�20� �I21� 9 ��2�� S��1 �� �%& �& ������ ���� �
"�� �20��9 �
�& "(���
 �*<D ��0�.  

w: �� d<� �
 ��&8  �+�1�+� �q�1� �J*1 �& "�� $6� Y��:( ��& -�)��� "�� ��0� K��D 9 �5��.  

U :�� �
�� �� �19�
 �q�1� ��U �� -�:1 $��
. �q�1� .�)D L*)6� �19�
 �q�1� �� �*g%�  $20��  � ���  

)V�X*+�9�+�� � 9 �X*+�9�&�� �V( �� �2	9 ��� "��U∆ �� 7�� �19�
 �q�1� F����RD �� $�1� 9 E�( �2	9q9w ��

�� ��)J� $20��  8
*5 K)/ �)2� �19�
 �q�1� F����RDq 9w "��U ���� ��� ���� 9 "�� ",�� K��D  ���
 �� E�( �!

"�� �20��9 �%�!�( ��*1�Z 9 ��,9�.  

H : "�� �+���%�
*��D �T��D �j,�21!F�*A �� �& H U PV= + �� `��TD 
*5.  

"�� 4�20� �*<D ��0� �� 9 "�� ",�� K��D c�1 �j,�21!.  

vC :�� "��Z $6� �
 ������ "�(�3 VC ���1�� F�*A �� 9vq

t

∆
∆

 F�*A �� �� �@�01��M�
 vdq

dt
 �� `��TD 
*5.  

$�0�*%� ��  ���%�
*��D �9� -*1�	 ���:  

 )1(  }u q w
u q P V

w P V

∆ = +
→ ∆ = − ∆

= − ∆
  

  

�� �� �19�
 �q�1� ���RD "��Z $6� �
 �& $�%��q"�� �����. �� WX -�*DVC �� �� F�*AvdU

dt
  �� �� 
�& `��TD

�sc/ ^2:� F�*Av
U

( )
t

∂
∂

 ^2:� �&U �� ";01t $6� �
 "��Z 8"�� 
�& `��TD.  

PC :�� �� "��Z ��:( �
 ������ "�(�3PC �� -�:1 �%�
.  
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�� $��
 E0� �� �j,�21! �>��� ��� �& $�%��:  

H U PV H U P V V P= + → ∆ =∆ + ∆ + ∆  

H q w P V V P⇒ ∆ = + + ∆ + ∆  

H q P V P V V P⇒ ∆ = − ∆ + ∆ + ∆  

)2(  H q V P⇒∆ = + ∆  

  

 �>���)2 (-��� "��Z ��:( �
 �& "�� �%T�8 ����� $20�� ����� �� �j,�21! F����RD "��. �� WX "5*1 -�*D:  

P P
P P

dq dH H
C ( )

dt dt t

∂= = =
∂
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	�
  �����5  

01�� � / 2�� ��� 4 2�   

�,
�T� �� �& "�� ���� 4��& ���PV nRT=  �25�
 �O20� ��
 �� E�( 9 E�( -! �@?�
 �q�1� P�%h)� 9 �%& "�T;D

�5��) .T
U

( )
V

∂
∂

 4��& ��� ���� �MA "��(.  

4��& ��� ���� -*VU K��D E�(T� 9 "���  $6��N�;D�� 
���1.U U(t)=8����� "�(�3 WX� �� -! "����� F�*A:  

 )1(  V V
U dU

C ( )
T dT

∂= =
∂

  

  

���� ��� �*�  � ���� P�%h)� �! $���
:  

P V P VC R , C R , C C R
5 3
2 2

= = − =  

01�� � / ���, �E�� F�����9 � �1F���� 2�:  

1 (!�($� �%� $6�:  

$����1 $6� 9 ��:( ��& �%T� "�� "��Z �+���%�
*��D �%���(  � �
 $6� �2	9WX 8:  

V P V P V W0 0 0 0∆ = ⇒ ∆ = ⇒− ∆ = ⇒ =  
$� �%���( �
  ���%�
*��D �9� -*1�	 ^;N $6�: 

U q w∆ = + U q
0

⇒ ∆ =  

"�� $20�� �19�
 �q�1� ���RD �� ����� �%�!�( ����� .�)D �%T�.  

2 ($� �%���( ��:(:  

 $� �%���( �
 -�)� ��� 8���� $� 9 $���
 ��& $� ��:( �5 �
�
 -�:1 kl;	 �& �*N8 $� �%�!�( �
 ���RD ��:(� �� �j,�21! F

"�� ����� �%�!�( �����.  

3 ($� �%�!�( ��
 :  

 �
$� �%�!�( ���� ��� ���� ��
 "�� ��
 K��D E�( �19�
 �q�1� -*V �!WX 8U 0∆ =�� $���
 9 �5��:  

U q w q w0 0∆ = ⇒ + = ⇒ =−  
)2(  q ( pdV) q pdV⇒ δ =− − ⇒ δ =  

  

���� ��� ���� �(�N �� �!:  

 )3(  nRT
PV nRT P

V
= ⇒ =  

  

 �>��� ���]O��/ ��)3( �
  �>���)2( �� �6�21 
*5:  

 )4(  nRT
q dV

V
δ =  

  

���O21� ��  �>��� �� ����)4 ($���
:  

 )5(  V
V

VnRT
q dV q nRT ln

V V
2

1

2

1
δ = ⇒ =∫ ∫  

  

)6(  
V

q nRT ln W
V

2

1
⇒ = =−  
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  :��� , H�9�1F آ��

 �%���( �D����
!  �& "�� ��%���(
�� t� �,9c�� �)20�� � ��
 .�O�
 F��;J ��  ������ �
�;D E�<� �� �MA8"�� 

�%T�q 0= .�9� -*1�	 ^;N WX:  

 )7(  U w q U w∆ = + → ∆ =  

  

v v
nRT

C dT PdV C dT dV
V

⇒ =− ⇒ =  

n
T VV

V T V
C R dT dV

( )dT ( )dV C R
T V T V

2 2

1 1

1=
⇒ =− ⇒ =−∫ ∫  

V

R

C
V

T V T V
C ln R ln ln ln( )

T V T V
2 1 2 1

1 2 1 2
⇒ = ⇒ =  

P V

V V

C CR

C CT V T V
( ) ( )

T V T V

2 1 2 1

1 2 1 2

−

⇒ = ⇒ =  

 )8(  

P

V

C

CT V
( )

T V

1
2 1

1 2

−
⇒ =  

  

� P�%h)�� �
 
�
 -�:1 -�*D 4��& ��� ����  �D����
! �%�!�( �>��� "�� ���	�� ��� �.  

P

V

C
P V P V ( )

C
1 1 2 2

γ γ= γ =  
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  سوالات عمومی  

1. �� � � �7�  #, J & $� &� ��1 K�L?�9�12L � #� � 	��M��600j ��A #� �&�  ��/.u∆  ��?�� P��Q#�� &1;
  

1(600−    2(600+    3(1800  

4(1200    5 (p�� .��&  

2.  &�F� ��/R Q#�� #, J -�1A �%�,   

1( ��:(    2 ($6�    3 (��
  

4 (�19�
 �q�1�    5 (p�� .��&   

3. �	FA�� �� H� -�1A & �� ��� � � S %��;9 ���9H∆ , �&u∆ Q#��/ �,��,  

1( -�2� P2?*�  

2( ��c6DNI3  

3( *��&� P�! -
�& �)�& Q]/����/ ",�� �
 P�! E�*D P(  

4( ����@	 c@(  � �� �*	 ����  � b%&�9  

5( p�� .��&   

4.T�, 0 U��� V��9 �W�FX� T�, #Y � 1F���� � �K  1F���� H� ...............#��.  

1 ($�  �
�    2 ($� ��:(    3 ($� $6�  

4 (�� 9��
    5 ("��Z �q�1�  

5. 01�� � / 2�� H� & $�  , 2�2atm � �� �400k  � Z!/ � & $� 	� A H� �[  & Z$� �Z, �1atm  �Z�  1Z�&.  

u∆  1F���� P��Q#�� &1;
  

1( 1210    2 (1300    3( 1110  

4( 1500    5(1720   

6. P,�A�&1�� 2�� H� P�Y�� �� ,����W 2����  2n nC H  �& �   &� \� ZY P,�ZA ��& �� ��> � ]� & ^, ���A

�� , � ��1000 c° K, ]� � / -�/ 1F
� �� #�� Q1��  

1( n40    2(n30    3(n20  

4( n10    5( n5   

7.  ��!9 ���,�=�?�� � 3���  ���=�?�� �  �Z�&�� ` ���� 2�� �� �, 1���.       �Z�M79 �� �& -�� 2�� Z�� �ZA 1Z�FA a�Z�

�� , 1��� &�b� &� �9� 3���� �� #�� ��&�� . ��!9 ���,200g  �, �=�?�� � 3����� -�/ 1F
 Q��&�� � �� �9� 3���  

1( 30    2 (40    3 (50  

4 (60     5 (70  

8. 	FA�� ��5 75/ M�� -�/x ]�  ,2 8/ � / ����2H V���. &� STP �� ���� ��.. Q#�� -�1A M�� ��9� -�d  

2 22 2x H O xOH H+ → +  

1( 23    2 (40    3 (7  

4 (39    5 (10   
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9. -�1A 	FA�� �� H� ��� 	�
 �1. 3� A ���  9 S %��;9  � Q1��&  

1(KBr NaI+    2(Ag NO NaCl3 +   3(HCl NaOH+    

4(H SO BaCO2 4 3+  5(HF NaCl+   

10.  . �%�A�9�XFW �� 3�A�B #�� . 3� Z. e�A�9 P��70A % �30B %    �Z��[ �� #Z��  �Z�9� ��� #%Z?�  

A �,3 5/ B #�� .?�
 e�A�9 P�� �,�79 2���� Q#  

1(A B2 3    2(A B3 2    3(A B3  

4(AB3    5(B A3   

11. ��^� -�d[�� �NaBr �NaI K1 62/ g  #Z�� .       �� Zf� &�1Z;� ��JgZ9 #Zh9 �& i�Z�^� PZ�� �Z�4�3Ag NO  

�� &��4 �� �[��^� ����Ag Br �AgI -�d  ,2 822/ �, -�/ �� #�� 1��.     -�Z/ 1ZF
 �Z���� i�Z�^� &�NaI  

�Q�&�� ��d  

1(/0 52    2 (/0 74    3 (/0 43  

4 (/0 31    5(/0 57  

12. Q#?�� ���� ���/ 3� . ��� -�1A  

1(H O , O F , NH Cl2 2 2 4  

2(HScN ,AlN , BeF2  

3(H NBF , BF , AlF3 3 3 3  

4(O F , ScF ,CH Cl2 2 3 3    

5 (H N , NH F , BeS2 2 4  

13. �9 -�1A9 ]�j �@;� e�#�&� � Q#��   

1(LiCl NaCl KCl RbCl< < <  

2(Li Na k Rb> > >  

3(F Cl Br I2 2 2 2< < <  

4(MgF Mg Cl MgBr MgI2 2 2 2> > >    

5(HCl HF H O2< <  

14. Q#�� 1�?A��
 H� e�A�9 -�1A   

1(KO2    2(H O2    3(MnO2  

4(BaO2    5(PbO2  

15. ��� P�, ��> � &� ��1� � �NaClK566pm #�� .��� k �.Na+K56 4/ ��� k �. 1>&�Cl−  #Z�� .

Q#�� &1;
 l
 �, #��& �� ���9 A � ����� k �.  

1(pm , pm181 102  2(pm , pm102 181  3(pm , pm92 192  

4(pm , pm191 92  5(pm , pm82 191  
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1 1

5 3 1
8 31

4 27 10

a / jk mol

b / m mol

− −

− −
=

= ×

2
23 128 1 38 10N

g
،(M k / J.k )

mol
− −= = ×

  سوالات اختصاصی

16. �� i ?%�� m=Y &� H�9 , ��� &�[ �, 3� A � / ����� H� 1FA . Q#�� #�&� �F�M/ -�1A  

1 (t 0∆ >  9w 0=     2 (q 0=  9w 0<  

3 (t 0∆ = 9q 0=     4 (w (PV)= ∆  9q 0=   

5 (t 0∆ <  9w (PV)= ∆   

17. 2�E��� V���� #W�� � �2N &�100 C°  Q#�� ��� J �, ��� 1F
 
  

1 (/ 112 34 10−×     2 (/ 111 71 10−×   

3 (/ 112 42 10−×     4 (/ 103 11 10−×   

5 (/ 121 71 10−×   

18. �� / ���� �7� &� 273  P���A �d&�113 #�� ����. �� #, J & $� &� �� �&��� �&    � Z�� &�  Z9 ����323 

�� �7� P���A �, 160 1��, ����. �9&��� i ?%�� e��f( )α � / P�� ���, Q#�� &1;
  

1(/0 00645−     2(/0 00465   

3(/0 00526     4(/0 00564   

5(/0 00465−   

19. � / 2�� ��2CO  #, J �7�  ,15 ����K 35/2   �� � Z/ � Z�� �C� � #�� 0��A ]Cd  ��/ 2�o���A300K   �Z,

341K �� � 	��M���A a�� P��  , K�2CO #�� �?���&1��� � /K H∆  1F����Q#�� -�1A  

1 (j4030     2 (j3035   

3 (j2035     4 (j2030   

5 (j4035   

20. � $� ���&� �, �& ��?, ��?�� H� ���&� �o��� ���p9 �� ?9 -�1A ��� 1�� Q  

1(v vU q∆ =     2 (adia adiaU W∆ =   

3 (p pU q∆ =     4 (U q w∆ = +   

5 (p pH q∆ =   

21. � ?9 -�1A #�&� ��A #� � &� �#?�� Q  

1(p PH U P V∆ =∆ + ∆   2(H U nRT∆ =∆ +∆   

3(H U nRT= +     4(v vH q V P∆ = + ∆   

5(v
v

dq
C

dT
=   

22. 5 &� �o�&1�� 2��25 C� �� �&�> �, #$/�, � �� �� ��C
100kpa �,500kpa ��. �� �A����.  - 7�� & A

 Q#�� 2�o 1F
 01.  

1( / j1662 8     2 (/ j1662 8−  

3 (/ j1226 8     4 (j19937   

5 (j19937−    
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23. 2 01�� � / H� �� 2�� &� 2�0 C° �7� ��100L �,200L �, �� �7� 	��M�� H�9 , ��� �&�> 1��.  - 7�� & A

 Q#�� 2�o 1F
 01.  

1(j500     2 (j540     3( j570   

4 (j590     5 (j530   

24. -�1A H� �$�, �LF� T��h�� ��� � �� / ��01�� � / �� ��  Q1�&�� 2�  

1(H2     2(N2     3(O2   

4(CH4     5(CO2   

25. P�� �, �d�9  , �� �A e��f �����b ��� �� &� q���&1��� �  &�1;� �1�   Z$� �Z�4� � / �7�&  �Z, ∞   3Z��

�� 1FA �� 1. ,K e��fb ��,$�, � / -�1A � Q#�� ��  

1(H2     2(N2     3(CO2   

4(Cl2     5(F2   

  

  

  

  

  

  

  

 بسیار مهم پیام 
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